6 bis/Calcul

Objectif : S'entraîner au multiplication
1 – Je suis capable de poser et effectuer les opérations suivantes.
         A – 3256 x 65 = ………………………….
         B – 4879 x 95 = ………………………….
  3        2         5        6


          …………………….


x                  6           5

                  x ……………………..


……………………….

        ……………………….

………………………0                             ………………………0

………………………..                              ………………………..

6 bis/ Corrigé
Objectif : S'entraîner au multiplication
1 – Je suis capable de poser et effectuer les opérations suivantes.
         A – 3256 x 65 = ………………………….

         B – 4879 x 95 = ………………………….

  3        2         5        6


                                   4879

x                  6           5

                  x                               95

                           16280

                                  24395
                         195360                                                      439110

                         211640                                                       463505
